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( You must have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses pen, HB pencr! eraser, caiculator '
\ [racing paper may be used. : : i

Total Marks

'-“'_?-'.'-_-"lnstruct:ons ST

_Use b!ack mk or baH pomt pen SR L
Fill in the boxes at the top of this page w1th your name f; S
- centre number and candldate number o S
Answer all questions. R N
Answer the questions in the spaces provuded S
~ there may be more space than you need '
You must show all your working. s _
Diagrams are NOT accurately drawn unless otherw:se mdlcated
Calculators may be used. . T SR

I your calculator does not have a button take the value of 7 to be 3 142 (R

s -'unless the questzon snstructs otherwuse

S _Informatlon

The total mark for thlS paper is 80 R
The marks for each question are shown in brackets I P

G use thrs asa gurde asto how much time to spend on each quesrron T
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Read each questlon carefully before you start to answer lt Z;': RIECARES
Keep aneyeonthetime. oo oot St
Try to answer every question,
Check your answers lf you have t|me at the end
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" Answer ALL questions. -
Write your answers in the spaces provided.
" You must write down all the stages in your working,

1 The téble shows the lengths of ﬁ{fe.rivers-.'_ B

’ River :  Length (km) Lo
Trent ; 297 .

Don 112

Severn 354 |
Thames | 346

Mersey : 113

(a) Write down the rivers in order of length.
Start with the shortest river. -

e MeRsE Y

RN “The River Théfn’es is more than t'l.n':.ee' tii’riés. as 16ﬁg as the R'i\'.i'er Don”
(b Show that Ami is cbr’ré'ct'.__*':: AN S : (A -_: T
Fw e = B3L kax AL THAMES 15 REZYTN

0 Mot AN 3 Tmer A bede

© ' (Total for Question 1 is 2 marks)
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: 2 Cups are sold in packs and in boxes R

'-.':-:There are 12 Cups in each pack AR ERINTI L SR PRI

\ ._':_There are 18 cups. in each boX o '_ ::::'f SO

3 :.';.'-._:'__Ahson buys p packs of cups and b boxes of cups . _:: v 5.:_ o S

- ¢ b 9 . . g 2 BT G BoEE R AT N I N B L o P S WL . . N .
S N R e L N NI R SRR D i A B i 8 i BOR e BN Bl | P K i B AR PR el i R R g, e [ NN
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3 Heeasfouwdgs IR

ERI I " (Total for Question .3.is.2'.mark.§) |

= erte down an expresswn in terms of )’ and b for the total number of cups Ahson buys oo

/ 2 p + I% _;"f:__f'.-_:;

(Total for Questmn 2 is 2 marks) o

s e

(i) Write down the three digit number closest to 200 that can be made with three of the digits. -~}
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P

4 g—ofanumber is32
Find the riumbe'r L
| § X”. 32

_,.-/

}]
SRR

" (Total for Q.ile's.tio'n' 4 is 2 marks) x:@

15 Apath is made of white tiles and grey tiles, S S
i—'of the tiles are white. -~ SR

(a) Write down the ratio of white tiles to grey tiles.

" Thereis a totai of 56 tiles. _

(b) Work out the number of grey t11es | : '_ |

' (Total for ¢ Qu'esti.br.i 5 is 3 marks)
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P DO R PR ST IR N S Bt D e s

'."_-Z.Bndglt saYS Lo SRR N N
IR ' To Work out the medlan you ﬁnd the mlddle number ' |

SRy so the medlan ofthese numbers is 17 R

= 'Brldgltsanswer is not correct SRR SRR R

6 Here is a list of numbers. - S S SRS :;._-_ o SRS NAR BCRERREE PR

s (2) What is wrong with Brldglt S method‘? }ﬁ_: PR T

51;..» H/n,a T Pw 'm NVM/MS/N

; .:..(b) Work out the range of the numbers in the hst _ '. :f

;(c) Work out the mean of the numbers in the hst -;:'_: :.-:- :._ ':' - ;_'j: : P

/’Z+U‘+:4,,,¢_('7 + 22 + (q ,Hg
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7 Priti is gomg to have a meal. :
She can choose one starter and one main course from the mend.

Menu
Starter " Main Course
Salad‘ L S Pasta'._ -

Fish- = Rice
Melon S ) Burger

Write down all the possible combinations Priti can choose.

(Total for Question 7 Is 2 marks)

$ Joanne wants to buy a dishwasher. o
The dishwasher costs £372-

Joanne will pay a deposit of £36
She will then pay the rest of the cost in 4 equal monthly payments

How much is each montth payment‘?

:}“‘72 Gé, 33L

c.,}/ SRR

(Total for Queéﬁoh 8.' is '2. niarké} L
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9 Davos ISacleaner L
The table shows mfonnation about the tlme 1t wﬂl take hlrn to ciean each of four rooms N . R
";} mahouse T e S S

U Reom | U Time M UWTBr
U Kitchen o 2hours fZO
. Sittingroom | I hour 40 minutes - t OO

CoBaoom | thhews | Q0

o '_B:.a.throor'n b 45 minutes ' L{'j

. :'Davos wants to clean all four rooms in one day S : :  G ’3{5
_'-He w111 have breaks for a total tlme of 75 mmutes _
' 4_ [f&aqfcs

:.- })aVOs 18 gomg to start cleamng at 9 am. -

_;_f;};?fsﬂ;zizﬁzvsl:_a“;zi:&;zz; q@o __
Ouw -+ "?Hﬂf )omw L
.I .\’)m/of L)ILI., N\'T ﬁN\SH CLLWW\\C" 0\/ LI—PM

R .:(Tﬂtal fOI' QU@SﬁOll 9 is 3 ma.rks.) ' B
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10 ABC is a straight line.
i [ ]
4 A B C

The Iength AB is five times the length BC
AC=90cm. . :

' Work out the length AB

?c i 5’[}‘( = éj?(‘,:»ffio

(Total for Question 10is 3 marks)

L T=4v+3 |
(2) Work out the value of Twhenv=2"
: (b) Make vthe subject ofthe forrnuia T 4v+ 3'.' . : : ':_ S |

— T T =~

" (Total for Question 11 is 4 marks) -
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12 The diagram shows a cube of side length 2 cm.

2 cm

2cm
2 cm

Vera says,

“The volume of any solid made with 6 of these cubes is 48 em?®”

(a) Is Vera correct?
You must show your working.

3
Vocumes of | CoBs = 2xZx2 = Yo

(b) (i) Draw a cuboid that can be made with 6 of these cubes.
Write the dimensions of the cuboid on your diagram.

IQCW"*

(i1) Work out the surface area of your cuboid.

17 x 2. ot

2 x 2. li‘#
(7 %2 —

{2

C (or 24)

(Total for Question 12 is 5 marks)
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13 The size of the largest angle in a triangle is 4 times the size of the smallest angle.
The other angle is 27° less than the largest angle.

Work out, in degrees, the size of each angle in the triangle.
You must show your working.

SmAaLLeEsT™ A L& X
[ ALEST  ANGLE WK

OTHER — AnCLE Ux-21")

7Y+ e -1 = (30

& = 2077
25

y = =)

(Total for Question 13 is 5 marks)
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-t 14 Andy went on holiday to Canada.

His flights cost a total of £1500

Andy stayed for 14 nights.
His hotel room cost $196 per night.

Andy used wifi for 12 days. . S
Wifi cost $5 per day. (2 < § (o (®;

The exchange rate was $1.90 to £1 ?/% o ‘7‘/

(a) Work out the total cost of the flights, the hote! room and wifi.
Give your answer in pounds.

$-I.C’10 = Sl

f ’: i«ng = ,2%154_ ~ ‘&;,4;75-’_;7?

ng - Zisoo R Aicw IS

(b) If there were fewer dollars to £1, what effect would this have on the total cost, in
pounds, of Andy’s holiday?

(Total for Question 14 is 6 marks)
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15 &= {odd numbers less than 30}
 4=13,9,15,21,27}
B= {5, 15, 25}

(a) Complete the Venn diagram to represent this information.

&

[ 77T 1 \3% 1\

(423 128

A number is chosen at random from the universal set, £

(b) What is the probability that the number is in the set 4 . B?

(Total for Question 15 is 6 marks)
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17 The table shows some information about the dress sizes of 25 'WOmen. SRR
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Dress size l\umber of women _
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" (a) Find the median dress size.

{
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" 3of the 25 women have a shoe size of7 o ':-
Zoe says that if you choose at random one of the 25 women, the probablhty hat she has .

_ 9
either a shoe size of 7 or a dress size of 14 is Eg because -

(8

=)

o
DT
L

| (b) Is Zoe correct‘7 Lo R
You must give a reason for your answer.
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fe. & A5~ daved D5 IN [T ' (Total for Questlon 17 is 2 marks)
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_ :_-He bakes only vamlla cakes banana cakes lemon cakes and chocolate cakes : T

< -_ % of the cakes are vanllia cakes 4' x (-P'Z/O '—-_ IZO

35% of the cakes are banana cakes O 35—")( L(/QD~ . l L(;—’ ) SIS :
The ratlo of the number of lemon cakes to the number of chocolate cakes is 4 5 SN TR BNt

f?ﬁﬁﬁW¥XM§
] \ESQ R AP .
L PR, w./\f"\ PR D

L -.'Work out the number of Iemon cakes Damel bakes e
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19 In the diagram, AB. BC and CD are three sides of a regular polygon P. AR

reglﬂaf 12- Slded polygon E_ .:. _. T

S ShcﬁﬁthafpolygoﬁP.i's'aﬁéjce'igo.n. '_ o ._ B
You must show your working. .~ o o oo o SRR

 OxTEewor AGLE of '/’z'};; m@ ﬁm,m = 2o _30
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'_-'The dens1ty of frult syrup is I 4 grams per cm [ i SR

': _:':':_-T he den51ty of carbonated water is 0 99 grams per cm3 _f: _:3 _ T

)\. L

: f-.:'§250m3 ofapplejulce are m1xed w:th 15 cm® offrurt syrup and R LR R DI
- 280cm’ of carbonated water to make a drmk With a volume of 320 cm3 SR R T
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.':_'Workoutthe densrtyofthe dmnk :. R R S A
= lee your answer correct to 2 decrmal places 3 SR S B
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(Total for Questmn 20 is 4 arks) S
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7.5 cm :
4 cm

q ~
,i;\, 10 cm .. R e

B Show that these two tr1angles are mathematxcally snmlar . o :
| ‘7726,4\3 CLG)—I Ads SiAieae | £ ﬂf\)(b&j /‘t’ﬂc JAML

By

CAT) = EDF = R0
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Lo age = -7,;{ -. m\ 3&, S
'EOT: 1.5 - f‘&:;\i%ﬂ(, = lem BF—C i MC = ’)F{; RS
. t O _ '

UdeE - AR, Aw AACLES Ate fAM{

(Totai for Question 21 is 2 marks) -
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(b) On the grid below, draw the graph of y =& for values of x from 0.5 to 6 _'

.. : ..'.:.:y"“

SIS fTotal for. Queéfion 22 is 4 marké)

e

B L D



23 Harley’s house has a value of £160 000 correct to 2 significant figures. - |

" (a) (i) Write down the least possible value of the house.

© (i) Write down the greatest possible value of the house,

' The value of Rita’s house increased by 5%. - {or (b44a]
Her house then had a value of £210000° .~ . .. " "« " er by AGH WC‘{C\)
(b) Work out the value of Rita’s house before the increase. _:- S '
[ pS x QArGNAL VALys = D 0.1 QU
o Olaae VAcus = Qo wo = Joswe,
s _ _ T

....................................................

o '(Tot':lll' for Questlon 23is 4 ma'rks)'

TOTAL FOR PAPER IS 80 MARKS - -
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